
Math 3283W Fall 2016 - Writing Quiz #8

Thursday 11/17/16 - 20 minutes Name:

Remember: your work on in the “writing” portion of this quiz will be graded on the quality of your writing and

explanation as well as the validity of the mathematics. (5 Points)

Definitions. This portion of your quiz will be graded for mathematical correctness only.

(1) (4 Points) Complete the definition: sn converges to s, written sn ! s or lim

n!1
sn = s, if...

(You may use symbols for logic quantifiers in your answer.)

(2) (2 Points) Negate your answer to (1) to write a definition of: sn does not converge to s if...

(Do not just write “not” in front of your answer to (1).)

(3) (1 Point) Complete the definition: sn diverges if...

Writing. This portion of your quiz will be graded for both writing and correctness.

(4) (8 Points) Use the definition of limit in our class to prove sn =

3n+ 1

n+ 2

converges to 3. You may use the

back side of this paper to do algebra / scratchwork / preparation. Your proof on this page should be self

contained – in particular, it should show any algebra steps, even if you have worked them out on the other

side of this sheet.

key

He >oF

NS.t.VN,n>N⇒1sn-s|<
e

¥neceswg
,
but could be helpful when negating in (b)

Fe

>os
. t.VN , ]- ns.t.n >N and Isn - SIZE .

Hs
,
Fe >os . t.VN , ]- ns.t.n >N and Isn . SIZE .

[ ie . YS
, Sndoesnotconveryetos ]

5

thinktdglprep t.ro#:letco,anduhooseN=E -2
. Then

.

(not graded unless it's n >N implies

+2
appropriate

necessary to look at choice of N

algebratogrant k¥2 -31=13

"+¥F6l
+2 showing

partial credit . ) =k÷a| necessary
Soaprootwithan N algebra
that doesn't work could

=
I ( within proof)Pn¥a -3k£ earn +41W structure

,
nth

auditor +2 partial credit <
I +4 For correct

µtht¥/< E ptsfwalgwhiohwewt
Nh structure of

Intake
into finding Marthe =± formal ,of :

He { first ,5 algebra in K ) - 3kE .

nT2k =[
. therehenn >N ,

E- 2=n then 1 k [
.

(Suggests N=5k . 2) thus M¥2 -3/4 ,
as desired.


